
Wp’) = P;(d  ( c)

=
d=o

= ,i  ( i ) pld (1 - p’)“-d

Pa@‘) = Pr(d ( c)-

ewnp’  (IIP’)~
= i

d=o d !

Pa(p)  = Pr(dl ccl  (nl)  + Pr(d,  = cl+1  In,)  . Pr(dl ( c2-~-1 In,)-

+ Pr((d = c,  + 2(nI)Pr(dZ  ( cZ-cI-21nz)  + . . . +-

+ Pr(d,  = cz  1 n,) Pr(dl  = 0) n,)
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& ( T’  ) ( z;;;’  )

Pa(p’) = ’ t

) ff-l  ( NP;-cl-1 ) ( N-fii;‘r+c’+  l-n,  )

(E  )
N-n,

( )n,

( cz~m-2
(*=o

Ny‘-~-2  ) ( N-ftipYr+c,  +2-n, )

+
N-n1( 1n2

+ +. . .

(3 ( n”,-“’ 1

Pa = Pr(d,  ( c,  In,)  + Pr(dl = c,  +1 In,)  Pr(d*  ( c*-~-1  (II*)  +-

Pr(d,  = cI +2  In,)  Pr(d,  ( c*-cl-2  1 n,)  + . . . +

Pr(d,  = cz  InI) Pr(di = 0) n,)

:. Pa = d$
e-nt~’  ln,ptldt  + ,-~IP’  cn,ptj ct+l /

d,! (c)+1)!

c,-c  -I esn’(NP’-l)‘N-nl  (n,(Np’-l)/N-nl)’
z’

*=o r !

e-n,P’  (nip’)  cr+* c’;‘-*  en,(Np’-e)/N-n,
+

(n,(Np’-2)/N-n,)  r
r=o

(Cl  +2)! r !

e-n!P’ (n,p’)  c*

+ +
e-n2(Np’-cr)‘N-“i  (n, (Np’-,-,)/N-n,)’

. . .
c,! O!
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%fi  d - bUTA DefectiveItem  fhlb&EhlJul~  n

&‘&  Probability Distribution llOJ d %I

P, (4 = ;d=0,1,2  ,...,  n .

Px(d)  =
(NP’)! (N-Np’)! (N-n)! n!

(Np’-d)! d! ’ (N-Np’-n +d)! (n-d) ’ N!

Np’ (Np’-1)  (Np’-2)  . . . (Np’-d  + 1)
=

d !

(N-Np’) (N-Np’-1) . . . . (N-Np’-n + d + 1)

(n-d)!

n!

N(N-1)  (N-2) . . . (N-n+l)

n! Np’ (Np’-1)  . . . (Np’-d  + 1) (N-Np’) (N-Np’-1)
=

d ! ( n - d ) !  ’
. . . .

N(N-1) (N-2) . . . (N-n+l)

. . . (N-Np’-  n + d + 1)
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Px(d) = ( ; ) p’ (p’-“N) . . . (p’ - (d-1)/N)  (l-p’) (I-p’-l/N)  . . . (I-p’-(n-d-1)/N)

l(l-l/v (1-2/N)  . . . (1 - (n-1)/N)

= ( “d ) (p’p’  . . . p’)  ((l-p’) (l-p’) . . . (l-p’))

d &.J d-n 64

= ( i )kfd  (1-p’)“-d

px (d) = ( ; ) p,d (lwp’)“-d

ttnwfi1  p’ &xJ  h
n

= > P,  (d) = ( i ) (h/n)d (l-h/n)“-d

n ! ad (l-k/n)”
=

(n-d)! d! nd (l-k/n)”

hd n(n-1) (n-2) . . . (n-d+ 1) (I-I./n)”
=

d! nd ’ (I-h/n)d

hd 1(1-l/n)  (1-2/n)  . . . (I-(d-1)/n)
=

d! (l-X/n)d
. (l-h/n)”

lim P,  (d) =
n-m
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hd  -h= 2

e? hd=
d!

; d=O,  1, 2, . . .

a!.a
UWIEI t% N ) >n, N - OD  b@E  p’ - 0 L&J

( y)(f:y)  _ ( i ) p’d  (l-p’)“-L $F

P,  (4 =

mn P, (4 =

aLwud1  p’ hl ”

=> P,  Cd) =

=

=

=

=

lim P,  (d)‘ =
n-m

ST 436

=

=

‘fy)

( ; ) ptd (1-pyd

( i ) (k/n)d (l-XhQned

n ! Ad (l-h/n)”

(n-d)! d! 7 (l-k/n)d

kd n! 1 (l-h/n)”
- -
d! (n-d)! 2 (l-Un)d

hd n(n-1) (n-2) . . . (n-d+l) (l-h/n)”
-
d ! nd (l-h/n)d

hd 1 (l-l/n) (1-2/n)  . . . (I-(d-1)/n)
-. . (l-h/n)” ’
d! (l-h/n)d

hd
z f;‘rnm (l-k/n)”

. -

kd
die

-A

3 hd
d !

; d=O, 1, 2 . . .



P, 6-0
(Ndp’)(;;p’)

= - ( ; ) p,d (I-~‘)“-~ -, e-)’ xd

cfi”)
d !

I .4.1 Dodge-Romig LTPD-STD
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I. Orant.  Opcit, p.398
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1 S&l  Item ~?“~~~~rBiaa9~181A8Wr91

; i = 1, 2, . . . . n Vi% i.= 1, 2, . . . . ni (i73fi  DSP baa,’  MSP)

7. Grant. Opcif..  p.405
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3 ( P , , )  =

nh-1

n/10
P eq. = k i N,Ph ;P,,  = T “A

n/10
; h=l,  2, . . . . 10

c (Peq.) = '0
10 10
x N$,  Ph qh -nN2  h

k2 ; N, Ph q,, ; nh = nh - 1

(1 - CY)  100% CL “uD9 Process Average p’ r’ &I

P̂C,.

1. Gr.d,  Opcit.,  p.424
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1. ABC STD = American-Britain-Canada-Standard

MIL = STD Military Standard

2. Grant, Opcit., p.417
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1. Master Table I

Master Table &Jnan&&  6 WI19 (%ic?-!  MPS) 68 Master Table for Normal

Inspection (NI) ~lM%J SW  LEE DSP Master Table for Tightened Inspection (TII) &d'~

SSP b1% DSP LLX Master Table for Reduced Inspection (RI) ~I?$&  SSP b161: DSP
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1.5.3 1115bb1b8  NI, TII bb%  RI
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1. th  AQL = 1.0% lot size = 1400 k~UTz%ri~nw3~a  K I#’ SSP ilwuil

NI 'l~UWURS?OROlJtih"  = 125, A C = 3. Re = 4
TII 'L~ttWUVl7?W1Utih"  = 125,ac = 2, Re = 3
RI ~hwa57amutiJu  n = 130, AC = 1, Re = 4
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-
\ Rejection in reduced

inspection

1
Acceptance in’

reduced 1
inrnh-tin” \

2 4 6 8 IO 12 14

Percentage ofdetectiveitems in submitted inspection lots
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